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NO. 14 + 18.90 8.2
NO. 15 + 0. 00" 1.10 8.2 8.20 9.02
NO. 15 + 3. 00" 3.00 1.0 7. 60 22.80
NO. 15 + b, 00" 2.00 1.1 7.05 14.10
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No. 15 + 5.oo|| 2.00 0.8 0.90  1.80
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<viay  [ER B LD TH B @ | 400 | 400 | 3.00 11.00
Z by k—s—2 RSN 8| 40 | 400 | 3.00 11.00
e @08 LoI800 SSCME L k| 400 | 400 | 3.00 11.00
5ES3BARR—H—| 66 L=l46 SPCC | 800 | 800 | 600 22.00
FEAEH I5a—hCASME | kg | 360 | 3.60 | 270 9. 90
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a9 ') — bk | ock=24N/mm2 J (1+0. 372) 0. 50«H-1/2%0. 09%0. 30=0. 522H-0. 014 | m3
&R 1/2% (B-0. 55%0. 3+B) *0. 55-0. 07x0. 11=0. 55B-0. 0563 [ m3
B 5530 - (1+0. 372) * (H-0. 55) +0. 30+0. 55=1. 044H+0. 276 | m2
HuEs t=200 RGC-40 0.522+0. 100 m2 0.622
BT HEEN RS J (1+0. 372) * (H-0. 55) =1. 044H-0. 574 Hhm2
=ZRE t=200 J (140. 372) *h=1. 044h m2




BEETHBHEE

4 G i % |EES g =8 & §
ZIEIR
B3Oy &st
BISTHET (1) 1) H=5.000m
a4y 1)—Fk | ock=24N/mm2 (0. 559%5. 00+0. 291) *8. 00 m3 24. 69
B E59:0) (1. 118%5. 00+1. 00) *8. 00 m2 52.72
HEM =200 RC-40 0. 659%8. 00 m2 5.27
Bi5T HEEMNES 1. 118%5. 00%8. 00 #hm2 44.72
ERiE =200 BrEEEELY m2 30. 21
KikE/INAL T |VP-0 65 24. 69%1/3 m 8.23
B 44 t=10mm 0. 559%5. 00+0. 291 m2 3.09
B th B 42 0. 559%5. 00+0. 291 m2 3.09
KR D13 [ kg 511.0
D16~D25 " kg 1352.0
HREE VU-¢ 150 0.67*4 m 2.68
RisEoIv-+D | o ck=18N/mm2 0. 148%6. 55 m3 0.97
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BT HEH S

i & No,14+18.857 ~ No,15+7.000 [=8. 000m
2T hR
B3Jow4H

EETHE EERELD 600
VU-6150 VU-¢ 150 | BENER
L:0.%7m 1=0. 67m
B - ey,
\%l ﬁ == 9590 K7 vh— ERHE t=200
JI9YR7Uh— \
= 559
S — %) BERA - ERHEEBORECH U THET 5L,
BRI t=200 5591

% g iR -l E g = B /N E & &
BFRTEET () [1.0mEHf=Y
a2y 1)— b+ | ock=24N/mm2 J (1+0.572) %0. 50% (H-1. 00) +1/2% (0. 60+1. 10)*1.00 | m3

=0. 559H+0. 291

pih e &% V"~ (1+0.572) %H+1. 00=1. 118H+1. 000 m2
EEM t=200 RGC-40 0.559+0. 100 m2 0.659
BT HEHEMNRSE J (1+0.5°2) xH=1. 118H #pm2
ERHE =200 J (140.572)*%h=1.118h m2
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BEETHBHEE

£ h i % |Es g = Bl /N § & §
ZIEIR
clov o &Est
BISTHET (1) 1) H=3.595m
ary)—bk |ock=24N/mm2 BrEEEELY m3 15.89
B E59:0) WEEELY m2 34.55
0. 559%1. 00-0. 023+0. 559+5. 00-0. 023 m2 3.310 37. 86

HEM t=200 RC-40 0. 659x6. 00 m2 3.95
BIBT HEBEMNES BrEEEELY #tm2 29.78
ERTH £=200 MEHEELY m2 29.03
KikEISA4 T |VP-¢ 65 15. 89%1/3 m 5.30
B #h#t t=10mm 0. 559x5. 00+0. 291 m2 3.09
KR D13 RSB kg 382.0

D16~D25 " kg 942.0
BIREE VU-¢ 150 0.67%3 m 2.01
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2 & No,15+0.335 ~ No,15+8.506 L=8. 000m

2T hR
ciawvsy

FHETLRED

H3H0
H3M0

H80m
Ho=250

: g

8
i T SR SO AL,

=R S v S - ) = B[/, G| & B
SETERT (1) |1.0n& 1Y
avy =t | ock=24N/mn2| |V (1+0.5"2)%0. 50 (H-0. 30) +x1/2% (0. 409+0. 559) 0. 30| m3

ZALHD =0. 559H-0. 023

Bt 53771 J(1+0. 5°2) +H+0. 30=1. 118H+0. 300 m2
e 4] £=200 RC-40 0. 559+0. 100 m2 0. 659
25T BHEEMN RS L (1+0.5°2) ¥H=1. 118H #hm2
ERH £=200 L (140.572) *h=1. 118h m2
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S K #H I

o E

%

%

: BIRE % Bifr ¥ B g &
55 Sk 450 x 600 X 960 = 1

a v ) =k 0 ck=18N/mm?2 m3 0.44 1£4Y

i B — AR A m2 4.35 1&4Y

2 B B A t=150mm m2 0.59 1&4Y

gLV —F 29 T-25 450 x 600 54 1 IE-ED)
65 Sk 400 x 500 x 550 oS 1

a v vy =+ 0 ck=18N/mm2 m3 0.26 1&E %Y

i S — R R m2 3.1 E- =)

2 B B A t=150mm m2 0.72 1&4Y

gL —F 9 T-25 400 x 500 54 1 IE-E=D)
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S E R KM

B B H

(HEE) Mo, 14+10. Ofst3x  1&5FR
918
318 450 150
gElR \ [ ——— gl e
1BEE =
I o
090 2
45 585
540 50 " N
" AR ()
1SUBEIE  A=0. 087
(FERE)
62URIEIE  A=0.207
: 12URKEE  A=0.090
i LEEIE  A=0.087
| HE =
N |- § 8 FIfsIE  A=0.040
eS| = 125 ($4300)  A=0. 148
2EEIE (p400)  A=0. 236
318 | 450 154 3FEE (¢ 800) A=0. 843
918
( 1H &Y )
## # Bifs = | = # =
a0y sy — m3  [1/2x (0.918+0.585) x 1. 11 x 0. 90-0. 45 x 0. 96 X 0. 60
~(0.087x 0. 15+0. 236 x 0. 15) 0. 443
i) m2 [1/2x (0.918+0.585) x1.11x2+0.90% 1. 11
+(0. 45 x 2+0. 60 x 2) x 1. 11— (0. 087 x 2+0. 236 x 2) 4. 352
2 OB R m2 [0.59x1.00 0.59
5L — F v # | (T-25) 450x% 600 1

_29_




6 5 & K

B

t "

(HFEE)
700
150 400 150

No, 15+10. OfF:L 1R

777777 [ '(w‘. |
e E S
090 000 ~ =
ol 100 |l s0 ERERE ()
800 1SURIEIE  A=0.087
6EURIEIE  A=0. 207
f”‘f‘fol 1BUEIKEE  A=0.090
150 400 150 LEAIE A=0. 087
/ Y M1 A=0. 040
e 2
/el 1EEE (¢ 300) A=0. 148
=L = _
S | 2EEE(H400)  A=0.236
/ LB I8 | | 8 8
/ /}_i_ i i IBER($B00)  A=0.843
/ [ A—— N 3
- ( 1HEHZ-Y )
# #H Bifs = | = # =
a v by — m3 ]0.70x0.70x0.80-0.40x0.55x0.50
-(0.040 x 0. 15+0. 087 x 0. 15) 0. 263
piv) m2 |(0.70x2+0.80x2) x0.70+(0.40%x2+0.50x%x2) x0.70
- (0. 040 x 2+0. 087 x 2) 3.106
x B B m2 |0.80x0.90 0.72
gL - F v ¥ | (T-25) 400 x 500 1
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Kig I #HESFHZR

: BIRE % Bifr ¥ B g &
LB {83 m 19.29
avo)—k 0 ck=18N/mm2 m? 1.20 10.0m%Y
i B — % m? 11.00 10.0m=1Y)
B A £ BEERE R40mmUT =150 m’ 4.00 10.0m=1Y)
K B = C2-B300 L5 20.0 10.0m%Y)
INERBEIK m 6.40
avo)—k 0 ck=18N/mm2 m? 1.77 10.0m=Y)
it B —h& m? 13.50 10.0m%Y)
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L & @ & B O E E
No, 14+10. 00~No, 15+10. 00 L=19. 29m
520
370 150
70
C2-B300
7 S
350 50
400
( 10.0m%z=y )
## #H B {5 " =® # =
a v sy M m® [(0.45%0.55-0.30x0.40-0.07%0.11) x10.0 1.198
i) #| m? 0.55%2x10.0 11.000
M A £ B m® |0.40x10.0 4.000
7K Z| # [10.0/0.5 20. 00
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N B HE K B O E E
No, 15+0. 34 ~ No, 15+6. 99 L=6. 40m
705
255 450
/.
o
2 300 150
ol
Lo
= o
30
480
( 10.0m%z=y )
#OOH  |Ea ) =% ¥ B
a vy 1y — K om® [(0.48+0.705) x0.45/2-0.30%0.30) x10.0 1.766
Eid] 2 m? 10.45x3x10.0 13. 500
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(LX) IERS  ERHE
(LRIL2) (LRJLI) (LR)LY) (LARJLD) wir | o =
T N @ 7 B 1 M) & = W=
EREEMHLT m 15.0
H=3.0m HAZH:
EABERT ImR A x 1.0
H=3.0m phi%4:
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EAMEMISEHESE
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EEREM
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Gisa )
)
E@EE s-1:20
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HEI ZTEHR(AST0OvY) BEHFEE

a9 —b Efi:md

bV = &= : 0.55%B-0.053 o=
" \HE FY | RE|] -  FH BE| - T HE
. 14 +18.91 0.20 B=0.46m
. 15 1.08] 0.21] 0.205 0.22 B=0.48m
.15 + 300 297| 023 0.220 0.65 B=0.51m
.15 + 500 1.98[ 023 0230 0.46 B=0.52m
.15 + 700 1.98 023/ 0.230 0.46 B=0.52m
At 8.01 1.79
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HEI ZTEHR(AST0OvY) BEHFEE

A & (t=200) EifE : m2

;[ = B B : 1.044%h =
" \HE FY | RE|] -  FH BE| - T HE

. 14 +18.91 3.65 h=3.50m
. 15 1.08| 365 3.650 3.94 h=3.50m
.15 + 300 297[ 365 3.650 10.84 h=3.50m
.15 + 405 1.03| 3.65 3.650 3.76 h=3.50m
.15 + 500 095 000 1825 1.73

At 6.03 20.27
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BEERT ZEWR(B3IIAYY) it EE
| =B #E (t=200) Bz m2
;[ = 3 : 1.044xh W E
m\HE| F®Y H%E DO g S ) =
No. 14 + 18.91 4.38 h=4.20m
No. 15 1.12| 438/ 4.380 4.91 h=4.20m
No. 15 + 300, 295 438 4380 1292 h=4.20m
No. 15 + 470 1.66| 4.38 4.380 7.27 h=4.20m
No. 15 + 500, 030[ 3.92| 4.150 1.25 h=3.75m
No. 15 + 7.00| 1.97| 000 1.960 3.86
A&t 8.00 30.21
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EERI ZER(C1TJOvY) BEHEE

a2 1) — b B m3 Eid) B B : m2

= &= :0559%H-0.023 &= : 1.118%H+0.300 B =
MHE FYH | RE(WE| FH BE - | FY HE

0.34 0.54 1.42 H=1.00m
300, 263 158 1.060 279 351 2465 6.48 H=2.87m
500 195/ 236 1.970 3.84| 506/ 4.285 8.36 H=4.26m
604 1.04| 277 2565 2.67| 589 5475 5.69 H=5.00m
700,  091| 277 2770 252| 589 5.890 5.36 H=5.00m
8.51 147 277 2770 407| 589 5890 8.66 H=5.00m

ast 8.00 15.89 34.55
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EERI ZER(C1TJOvY) BEHEE

HEEM RIS &6 #in2

m R H:1.118%H W=
" \HE FY | RE|] -  FH BE| - T HE

1.76 2.24 H=2.00m
300| 1.22| 321 2725 3.32 H=2.87m
500 1.95| 476 3985 7.77 H=4.26m
6.04| 104 559 5175 5.38 H=5.00m
700 091 559 5590 5.09 H=5.00m
851| 147 559 5590 8.22 H=5.00m

ast 6.59 29.78
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EERI ZER(C1TJOvY) BEHEE

E AT (1=200) Hfi: m2

BB B
B A B 1.118%h =
mlE FH| HKE - T H=E - T HE
.15 + 0.34 1.01 h=0.90m
. 15 + 3.00 263 310 2055 5.40 h=2.77m
.15 + 5.00 1.95| 465 3.875 7.56 h=4.16m
. 15 + 6.04 104 548 5065 5.27 h=4.90m
.15 + 7.00 091 470 5.090 463 h=4.20m
. 15 + 851 147 369 4.195 6.17 h=3.30m
A&t 8.00 29.03
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